
Folding bed

Version 1.1

Klappbett

DJ503465

DJ503242



2/7



A
×4

B
×2

C
×2

D
×1

3/7

I J

×4 ×4

K

×8
M6*35 M6*25 M6*12

L

×4

H

×2 ×4
M6*55 M6*40

E F G
×2 ×2

M

×10

H-10mm

QN

×18

o p

×1 ×1

MATTRESS

×1



4/7

Step 1

Please do not tighten the 
screws at the beginning, so 
as not to affect the 
subsequent installation. 
Tighten all screws after all 
parts are assembled.



Installation 
sequence!

5/7

Step 3

Step 2

×2 The flat surface of (A) keep upward



Step 5

Installation 
sequence!

Installation 
sequence!

Step 4×2

×2

×2



O

Step 6

7/7

×2


	1
	2
	3
	4
	5
	6
	7

